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8) (V2 —v6)+(vV3—2)(V/3 +5)
=2—2X2y/3 +6+3+3/3 —10
=1—43

BID 2*—2xy+y'=(x—y)
=(¥5 +2—y5 +2)
:42
=16
@ —y'=(x+y)x—y)
=245 x4
=85
(2) a*—6a+5=(a—1)(a—05)
=(@2+VT)(—2+VT)
=7—4
=3
(3) (2r+y)—(2x—y)?
=4+ dxy + y* — (42* — 4y + *)
= 8xy
=8(v/3 +v2)(V3 —v2)
=38

(611) AADC, AADF, ACDE, AEDF 24 Mm%k

A=A 5,

<%X1XQX4=2(mﬂ

(2) ACIZIEJiT ACEF OHREDIEDFEHIRZZED 5

AC=4y2 cm
AB:AC=1:y/2

8 | 2rrER e zoMmES

[BE]
a1 2 ;G
2@ % @ <
3) +vE&
2]1) @ (2) —1, 2
B)1) z==*415 (2) r==38
(3) z=+4/7 (4) x==+5
5) x:i%- (6) x==+2/5
R S
[@)1) z=—3+y2 (2) z=5=+47
3) =7 z=1 (4) z=5+4/10
(5) z=—1=+413 6) r=7+2y5
(7) r=3+2/2 (8) z=—4+45
(9) 2446 0 =1, z=—7
P4 @2 @D > @D
20D z=—1%xy6 @ zxz=2+y11
® r=3x2/2 @ x—Bigﬁ

61) z2=38 (F7/1F2*—3=0)
(2) (x—1)'=2 (FhEz*—2x—1=0)

(&3]

(1) BELTEMTLZZLIZLoT(2%A) =
AR TE B R Z 2RAERE VI,

(2) 2HBERZHY /285 X)) L XLFOMHE,
Z0HBEROBE VY, BEITRTRDLI L%,
ZD2RHBEAEHBS LI,

(3) k>0 X%,

=k DL, r=%tVk
2] zIEZRALT, XY LobDEESR,

BJ1) z*—15=0 (2) 2*—64=0

r*=15 r’=64
x==%4y15 r==*8
(3) 2x'—14=0 (4) 3x°—75=0
=7 x*=25
x=+47 z=%5
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ZIAT,

(]

B2 22+(a+b)rt+adb @ 2°+2ax+a’

@& z2'—2ax+a @ r—a
(2) HE %
A1) 1652°— 122y (2) —10a*+ 35ab— 20a
(3) 6a—15 4) —9r—6
B1) xy—5x+2y—10

(2) 3a*+5ab—2b°+ 4a+8b

(3) z'+4r—45  (4) 9x*—48xy + 64y’
n2

4

(7) a*+ 2ab—+ b+ 10a + 106 + 25

(8) x*—6xy+9y°—2r+6y+1

(9) a*—2ab+0b"—9

10 4x*+4xy+y*+6x+3y—4

(5) 16 —49a* (6) m*—

B1) 2z'—10x+1 (2) 30a—41

(3) 17x—8 (4) 24xy

B2 3 @ 30 2@ 49, @ 7
B1) 2a(xr+20—32) (2) 5ab(2a—5b)
(3) (r+2)(x—12) @) (4m—1)*

(5) <.1‘+ %)(z—%)

(6) (3a+8b)(3a—8b)

B1) 3x(y+5)(y—5) (2) 2a(x—3)(x+7)
3) (x+2)(x+1)
4) (a—b+9)(a—b6+9)
5) (a—2)(b+4) 6) (r—5)(y+3)
)

(1)
(3)
(4)
(5)
(7)) (x+3+y)(x+3—y
8) (a—b+c)a—b—rc)
B(1)D 389991 @ 125000
(2) 713 (3) 81 4) 0
(5) ADFEHB LD 100 cm® 7ZIFRKE W
(1) 420Dk %n n+1, n+2, nt+3
EI5nL,
(n+1)(n+2)—n(n+3)
=n'+3mn+2—n"—3n=2
FoT, D 2HORH LK) D 2 BOM
ZOWEEIE, BT2E% 5,

(2) ZEDRITHELLODEHEn, n+3LT 5L,
(n+3)—n'=n*+6n+9—n’
=6n+9 (@D
F7, Lo 2o0KOMD 35T,
3{n+(n+3)}=6n+9 @
@®, @&h, REVHDOPHPLAEVSTO
FhHaEOWzEZ bED2O20KDHD 3
BIZSE Lo
M hoFFEromedse,
S=n(r+a)—rx’
=x(z*+ 2ax + a*) — nx?
=7 (2ax + a*) =@
BWOEATZBEAHOEEE (22+a)m TH
Lo,
¢=72x+a)
L7255 7C, al=n2ax+a*) @
@ @ky, S=a¢
W) Z&zDT2F721F, 2512k 5,
c ZO LD 2177213, Tofo¥E LhiC
1 ZMRIZHDOFRNZ 2 %o
(2) DEOBHRBOTOMOEE LT L,
ZOHBEO 2 i,
(10a +5)%=100a*+ 100a + 25
=100a(a+1)+25
YoT, T2721325T, ZOLD 217721
ala+1)THH, ZETOMNOEKE ZNIC
1 ZMRA7ZBORTH %,

(&)

B sEEorX
(z+a)z+b)=x*+(a+b)x+ab
(x+a)=x*+2ax+a’

(r—a)*=x*—2ax+a’

(1"*‘11)(1'*(1) =x*—a’

(2) ZHEXZWL OPORBOEORICEKT I L %,

ZTOLZHAZRBABETH L)

A1) (5xr—4y) X 3xr=5x X 3x—4y X 3x
= 15x* — 12xy
(2) —5a(2a—T7b+4)
=(—5a)X2¢a—(—5a) XT7b+ (—5a) X4
=— 104’ + 35ab — 20a

2 __ 7i— 2 __ i
(3) (2a*—5a) = 3 = (2a*—5a) X .

=6a—15
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(4) (6x*y +4xy) + < = %xl/>

= (6x*y + 4xy) X (7 23‘y )
=i— Qi —16
B(2) (a+2b)(3a—b+4)
=a(8a—b+4)+2b(8a—b+4)
=3a*—ab + 4a + 6ab— 2b* + 8b
= 3a®+ 5ab — 2b* + 4a + 8b
38) (r—5)(x+9)=2"+(—5+9)xr—5x%x9
=r’+4xr—45
(4) (8x—8y)*=(8x)"—2x8yx3x+(8y)’
= 9x* — 48xy + 64y*
(5) (4+7a)(4—7a)=4"—(Ta)*
=16 — 494"

0 (w3 )= (2)

2

4

(7) (a+b+5)*
— (X +5)* Pl

=X*+10X + 25

=a*+ 2ab+ b* + 10a + 106 + 25
(8) (r—3y—1)*

( y‘ ) r—3y=X&B<
=(X—1)*
=X?—2X+1=x"—6xy+9y°*—2x+6y+1

9 (@a—b+3)a—b—23) e a
— (X +3)(X—3) ot E

2
=m"—

=X*—9
=a’—2ab+b*—9

0 (2r+y—1)(2x+y+4) 2xty=X¢&
—(X—1)(X +4) 4

=X+3X —4=4+4xy +y*+6x+3y—4

Bl (z+3)(z—5)+(z—4)*
=x'—2r—15+x2*—8x+16
=2z — 10z +1 ‘

(2) (3a+4)(3a—4)—(8a—5)?
=9a*—16 — (9¢* — 30a + 25)
=9a¢*—16 —9a° + 30a — 25
=30a — 41

3) 2(x—1)(x+6)—(2x+1)(x—4)
=2(2*+5x—6)— (22" —8xr+xr—4)
=2+ 10x— 12— 22+ Tx +4
=17r—8

(4) (8x+2y)*— (3xr—2y)*
= 92"+ 12zy + 4y* — (92* — 122y + 49%)
=92* + 12zy + 4y* — 92° + 122y — 4y*
= 24xy
Call i)
3x+2y=X, 3x—2y=Y LBk,
(3x+2y)*— (8x—2y)*
=X*-Y?
=(X+Y)X—-Y)
={(8x+2y) + (Bx—2y){(8x + 2y) — (3x— 2¢)}
= b6x X 4y = 24xy
Bl (@ Jx—5)=9—[ @ |r+25
FEORN (r—a)'=x'—2ar+a* £ BRB L,
9= (3z)' = [ @ |=3
[ @ |=2x5x3=30
(2) d4m*—| @ :(2m+)(2m*7)
REHRDO RN 2 —a*=(r+a)x—a) £ 5
5L,
[@ ]=7
@ |=7"=49
B3 z}—10xr—24
Al T
MAS —10, HAS—24 &5 250, 2, —12
=10 —24=(x+2)(x—12)
(4) 16m*—8m+1=(4m)*—2 X1 X 4m+1°

=(4m—1)*
5 oY . ()
(5) x i <2>

. <.r+ %)(r—%)

(6) 9a®—64b*= (3a)*— (8b)*
=(8a+8b)(3a—8b)

E(1) 3xy*—75x=3x(y*—25)
=3z(y+5)(y—5)
(2) 2ax®+8axr —42a =2a(x*+ 4x—21)
=2a(x—38)(x+7)

(3) (x+5)°—7(xr+5)+12
SR j.r+5:AUs<
=(A—-3)(A—4)
=(zx+2)(x+1)

(4) (a—b)*—81
_Ar—g1 :‘a*b:Akio<
=(A+9)(A—-)9)
=(a—b+9)(a—b—9)
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(5)‘1(40b—+24):+4(a—2) :\a—ZZA r 3¢

=A(b+4)

=(a—2)(b+4)

6) zy+3r—5y—15=(x—5)y+3(x—5)

‘ =(zx—5)(y+3)

(1) *+6x+9—y’=(x+3)—y
=(zx+3+y)x+3—y)

(8) a*—2ab+b—c'=(a—b)'—c*
=(a—b+c)a—b—rc)

B(1)D 203 x197= (2004 3)(200—3)
" =40000 — 9 = 39991

@ 125 X 55*— 125 X 45
=125 (55 — 45¢)
=125(55 + 45)(55 — 45)
=125 % 100 X 10 = 125000

2) (r+4)(x—4)—(x—3)(x—7)
=x2*—16— (x*— 10+ 21)

= 10x — 387
=10X75—37
=713 .
(3) dx*+dxy+y'=(2x+y)*
=(2X2.743.6)*
=09"=381

(4) 8x*—12y°=3(x*—4y?)
=3(x+2y)(x—2y)
=355 75 )35 75) =
(5) A OIfif&IE '
a* cm?
B O %
(a+10)(a—10) =a*—100 (cm*)

DEMEZFNFN1L 2O TEHSTEL, XD

HEFHT %0

M hwoPEE2rmelLT S 22FhFhata

DRTET,

W1 Z2ZOF20-ZF0LED2F7-0FNFhI

EHLTTPHEY %

(2) LOBERBELTFEHSTELT, )oTFH

2Rt %,

EFRBEVS .

O)Li))%"f _\/; ti%j—o
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1) FHR 2P va @ —va

(32 Vab @ /& [imi @]

@ (m+n)
A1l L, £8 (2) IELL 2w, 10

(3) IELL Wy, 7 (4) IELW

(5) LW (6) IELL W, 1
By AHE @ @, @

- @), @

2)A @, B & C @

Bl J/10<4/13 (2) 5>2/6
1 1 B

(3) ?<\/§ (4) —y70<—8

(5) 5<4/35<6 (6) 4<4/17 <3V 2
By /6 (2) —6/1d (3) %

4) —2J7 (5) V14 (6) —345
B @ (2)'@ (3) %
B 83.7 (2) 0.265 (3) 265

(4) 7.95 (5) 26.5 (6) 0.837
B 53, 59, 61, 67, 71, 73, 79

(2XD 3x52 @ 2°x3x13 ® 2°x5
B1) 445 (2) /6 +2/3

(3) 3y2 (4) 345 (5) 447

(6) —245 (7) V2 (8) 746
1) 6y2 +3 (2) 24/3+2

(3) 13—5¢5 (4) —13—47

(5) — 7447 (6) 11—3v/6
116 2D 4 @ 24 (3) 72
B1) 1014 (2) m=14

(3) a=4, 11, 16, 19, 20 (4) 6.7 cm
B 3 (2) 13
[#5554]

Bl »rHarz2Fdrblallrdld, 2%adD

(2) EO¥KaDFIMRDHI L, EDIFH % Va, &

(3) a bRIEDOEETHLEX,
_ va _ [a
vVaxyb=yab o Vo
mva +nva=(m+n)va

) YETP =y (6) YT —yT=3-2
=7 =1

(2) —2<—y2<—1, 2<4/7<3

B2 5=425, 2/6 =y24
25> 24 1E 5, 25 >4/24
o>2\/_

4) 70>64 7205 F>F
—\/_<—8
(5) 25<385<367Xh5H,
V25 < /35 <+/36
5<4/35<6
(6) 3y2 =y18
16 <17 <18 72h 5,
V16 <17 <18
4</17<3y/2
V13 x /5 =/13x5
=y/65
(2) 2V6 x(—y21)=—2/6x21
=—2x3/14=—6414

(4) (—4@)+2F:—7x 355

——9JT
5) \/@xﬁ:ﬁ—@%“z
42><2 ‘/_
(6) 3@+(g\/ﬂ)xf:—i_\/%ﬂ
g%, [T
——3/5

6 _ 6
_ 3xy/6__ V6
V6 X6 2
(2) V10 :ﬁ
V2 xy3 /3
_V/5xy3 _ /15
V3 xy/3 3
(3) V5 +1 _ (V5 +1)xy/5
«/? V5 X5
_5+y5
-5
B1) /7000 =104/70
=10 X 8.37 = 83.7
_ /7
(2) /0.07 = =
10
265
=y = 0265

(3) /70000 =100/ 7
=100 X 2.65 = 265

4) V/63=3/7
=3x2.65="7.95
5) 70 _ _T0XyT
VT VT x{JT
=104/7
=10 X 2.65=26.5
(©) VT _ VT xy10
V10 /10 x4/10
_ 470
10
_8.37
=g = 0837
2D 3)75 .- @ 2)156 ® 2)320
5)25 2) 78 2) 160
5 3) 39 2) 80
13 2) 40
2) 20
2) 10
5

—/5 +2/5 +3/5 =(—1+2+3)y/5
:4ﬁ
(2) 2¢/6 —v/3 —v6 +3y3
=@2-1)V6 +(—-1+3)yV/3

=6 +24/3
(3) 24/32—y/50=2x4y/2 —5/2
=32
(4) v/20—3y5 +/80=2y5 —3v/5 +4y5
:3@
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(5) 347 + f: VT +vT
=447

(6>£ ﬁ \/——% ‘/—~3F
_72\/7

(7) 28 —y/6 X4/3 =2x2/2 —/6X3
=4/2 —3V2=y2

30V/2 xy/3

(8) 62 X ;F=f¢§f— I8 udE —3v6

=10/6 —3/6 =746

(1) v3(2/6 +v3)=v3Xx2/6 +v3 xV3
=642 +3

(2) 4v/3 —vV2 (V6 —v2)
=4y3 —/2 xV6 +V2 xy/2
=443 —2/3 +2
=243 +2

(3) (V5 —2)(38V5 +1)
=45 x3/5 +v/5 —64/5 —2
=15—"54/5 —2
=13—54/5

@) (V7T =5)(/T7 +4)
=(W7)+(—5+4)y7 —5x4
=7—y7—20
=—13—4/7

(6) (A—VT)A+VT)—2(1—VT7)
=16—7—2(1—2V7 +7)
=9—2(8—2y7)
=9—16+44/7
=—T7+4y7

ey 1 10 (4 — V10
6) (V3 —2¢2)+ G (4+4/10)(4 10)
= —_ _1_ —n
=3—4v6 +8+ﬁ(16 10)

:u—4J€+;%=
=11—4y6 +V6
=11—-3y6
W) 2*—10x+25=(xr—5)*
=(56—v7 —5)
=(—y7)=17
(2D ay=(3+v5)(3-¥5)
=9—5=4

@ 2ytay=zy(z+y)
=4(3++v5 +3—+v5)
—4%6=24

(3) (x—2y)(x—8y)—(x+4y)*
=z’ — 10xy + 169> — (x* + 8xy + 16y*)
=—18xy
=—18(vy2 +v6)(v2 —V6)
=—18(2—6)
=72
B1) 5°<(V/a)'<6*LDb,
26 <a<36
a=26, 27, 28, - , a9

) ¢§§: 2°X7
m m
m=2XTNDE%,
8 _ s
(3) 20—a=0, 1% 2° 3% 4
a=20, 19, 16, 11, 4
(4) TR,
360 +~8=45 (cm?)
Zh6, 140k
V45 =345
=3x2.236=6.708 (cm)

B(1) 64<77<817205,
V64 <77 <481
8§< V77 <9
) t=4yT77—8
t*+16t=1(t+16)
= (/77 =8)(VT7 +8)
=77—64=13

[fE%]
B2 % @ f#< (2) =k
(3) = 2bz—4ac (4) x=a, x=0
a
B ©
B1) z=+/10 (2) z=%4/10
(3) x==+4 (4) x:i%
(5) z=—1+4/7 6) r=3+3/5
(7) =7 x=1 (8) r=—2+24/3
Bl r=1+4/10 (2) x=—2=+4/13
(3) x=—3=+2/3 (4) r=5=+4/23
H1l) z= 3+:1/ﬁ (2) r=—6=%426
®) =1Ly oy =L
B1) x=0 xZ% (2) z=—38, =7
3) a=—2, =7 (4) =3, x=—9
(5) r=—=56 (6) x=6, x=7
HB1) =4, r=5 (2) z= 7i4 17
(3) z=—4, =9 (4) z=4, r=—6
6] z=3 z—38 6 z= liﬁ
(7)) r=1 (8) r=+3
(9) z=4+4/10 0 r=—1, =13
Bl «=—2 b=—15
(2) a=5 3dH)12o0fkr=1
(3) a=6
Bl —12, —7, 721k, 7, 12
(2) 5, 6, .7
M 12m
m (6 6), (9, 4)
Bl z-z-1=0 (2) 1: 1“‘2*/3
(257

B 2RAGERZRY L7285 L) B LFoMEz,
ZOHBRROBL VY, BrIXTRDLI LR
ZD2RFEAEHES L),

(2) R>00DLE, 2?*=kDIRIZ, x=%Vk

(3) DA
2B RN ax® + br+ c=0 DRI
_ —b*+V/b'—dac
2a
4) a bWEKODOE X,

2RHBR (x—a)(x—b) =0 DRI

x=a, x=b

2 =52 MALT, FXAWY L

1

D DR,

Bl z*—10=0 (m—gﬁ:S
x'=10 =10
r=+4/10 r=+4/10

(3) 3x*—48=0 (4) 7—252*=0
x'=16 o 7
r==14 ’ 25
r:ig
(5) (x+1)*=7
x+1=%4/7
2=—1%x47
(6) (r—3)*—45=0
(r—3)'=
x—3==%3y5
r=38+3/5
(7) 2(x—4)*=18
(r—4)*=9
r—4==3

F=T, g=1
(8) 5(x+2)*—60=0
(r+2):=12
x+2=12y/3
Cx=—2%2y/3

Bl 2*—2x+1=10
(#—1)"=10
r—1=%4/10
r=1+/10
(2) . x2*+4x=9
O+ 4z+4=13
(z+2)=13
z+2=+4/13
r=—2+4/13
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